Calculating Average Speed, Distance, and Time

Use the average speed equation to calculate the unknown variable.
Ask yourself, “What is this question asking me to find?” before you Ad=v at
begin your calculation. Remember that “ v, 7 represents speed, “ad” a"

represents distance, and “at” represents time. At=ad Vay

Ad

At

1. Calculate the average speed of a car that travels 70 km in 1.5 hours.

2. How long does it take a person running at a rate of 4 m/s to run a distance of 260 m?

3. How far would a snowmobiler travel in 0.5 hours at a rate of 25 km/h?

4. Melanie ran the 100 meter race in 12 seconds. What was her average speed?

r.

5. If a boat sailed for 6 hours at an average speed of 55 km/h, what distance did the boat travel?

6. How much time did it take a plane flying at 575 km/h to travel a distance of 1700 km?
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Goal « Use the uniform motion formula to solve motion problems.

/N
What to Do / 1\
Solve each problem in the space provided. Show all your work. /
1. Use the uniform motion formula to complete the table below. y ' T
. / . !
- -
At Ad v, 1
3.0s +12m ]
+28m | +4.0m/s
15.1s  +2.00m/s
1.5 h +50 kmv/h
1.7h +84 km _
+120km | +15km/h

2. (a) A student rides a bicycle along a straight road for 30.0 s. She travels 254 m away from her home. Find her
average velocity.

(b) A car is moving east, at 90 km/h, along a straight highway. Find the displacement of the car after 1.2 h.

(c) A person is walking west at 4.2 m/s. How long will it take the person to go 110 m west?
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3. A car starts from a position of 18 m at a time of 7.2 s. The velocity of the car is 17 ms. Fmd the position of

the car at a time of 9.8 s.
|

Given: diz I8m ~ 3
iz 1-2s A= Av x At .
4= 295 DAL = 45-L; @ Ac):Zl?xA{
TV = Tels = 9g-7.2 2 (Temds % Qb
d;::? ks S Yd.am :
(D dp= di+ad ;

Sl%m+ Y. ;
2ba.2m PAmLstmi jﬁ’a
4. A student is walking with a constant velocity along a straight sidewalk. At a time of 1.4 s, his posidon is 31.4m.
Later, at a time of 6.1 s, his positon is 9.6 m.

(a) What is the student’s velocity?

s e - o . {
Giivere, \ %3 zl4%s &?: Ad - df—éb = Q.6 .30Ym _ 4 (s, m/s Es"l'm.‘s\!\'l’:’

—
—

di=3Ldm &t f:,c -t G\ = 1. Y4s
ts zl-l's
&s.zq.c,m
:
(b) What is his position at 4.4 oh this Garew £¢ ¢
tpattds D Ake bs-ti @ Ad= &V 8
tc=1.4s = d.y=l.Y = (-y. Gmls}(? S)
2 31 = =73.9
Cil.— -qqm 3s 22}
v . b Lnews pus"d-lm) = dlt+ Ad
S Pl ~13.9m
=17.Sm = Eﬁm Esl'm_iﬁh{jj
(c) At what time is the student’s position 12.0 m?
rnew df given -
E.L - I.Ll_g , Ad
P D Ad= dg-at @ at: Ad
ds=12.0m =120m=31.Ym = -\,rq, y
> - =)%Y — T
vV ="4. Y '“/5
'l:;::— ? =4.2 S

B tp= Lorat
:’(-"{51‘-"}.35
:Is‘-(as 5
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. Nascar driver, Jeff Gordon, has a car that is one of the fastest on

the circuit. If it travels 960 km in 4 hours, what is his cruising
speed? _ : - '
| V=d = 9D = A0 kinlh

Y dh

The fastest car on earth, a German-made Thrust.SSC, would win

' every Nascar race in America. If ittakes 0.5 hours (30 minutes)

to travel 608 km, what is its speed?

V=9 BN - 1Ble Wnlh
T 05h :

The fastest train on Earth, the TGV from France, can travel at

faster speeds than trains in the Canada. During a speed test,

the train traveled 1280 km in 2.5 hours. What is its speed?

Ved < a@ﬁ\m 519 \(nf\“\
T ash

. Spirit of Australia, a hydroplane boat, made speed records by

traveling 382.4 km in O. 75burs What is its record-breaking
speed?
-\' @‘7&

The fastest plane ever made, the Lockhead SR71, was able to

. travel 3520 km per hour. Based on this speed, how far could it

travel in: A=V-T

a) 2 hours? B) 3 hours? C) 5 hours?

300!

C10Ya|h

Jodo ¥ \D560¥M 11,600 ¥m

. Challen'gé: Out of all the machines on this worksheet, which one

is the fastest?



7. Fill in the boxes and use a calculator to determine how long it

would take each machine to get to travel 96 kilometers,

A. Jeff Gordon’s Car = 0OM0 W +=3,

B. Thrust ssccar= (). O

C. TGV (France) Train = O \ﬁ h

D. Spirit of Australia Boat = D \q L\

1

'\ & Locknead sr71 Airplane = Q.0a7 1 \ .
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